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1. The number of medians in a thiangle is

4 (D) 3(C)
2- (a-b)a’+ab+b?)=?
2’ +b° (D) a’ -’ (€)
3 (a+b)l-(a-b)? =7
a’ +b? (D) ~4ab (C)
4- In a square matrix, the number of rows and columns is
2x1(D) equal 4l (C)
5- An arc greater than a semi circlejs.ca ed
maiar are 19 (D) diamater ()
6- Solution set of |x~1|=4 is
{5,3 O =5\ (©)
7- The co-ordinates of the origin are
(0,0) (O (0,D\C)
8- In a Unit Matrix diagonal elements are
1(0) 0(C
9- The sum of the angles of a triangle is
360° (D) 270° (C)
10- HCF of 12pq,8p2q is
4p*q (D) 4pq’ (0)
11- Solution set of (x —2)2 =4is
{2,6} (O {~6,-2} ()
12- A quadratic polynomial is of degree
3(D) 1(C)
13- Solution setof |x|=3 is
+3 (D) 0 (C)
14- Area of a rectangle is
£2 (D) % x L+ (C)

15- Factorization of x* ~16 is
(x-2)(x+4) (B) (x=2)(x+2)(x*+4) (C)
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e Qo §ustos ot 2B L 1 1

2(B) 1(A)
(a-b)a® +ab+b?)=7 2
(a+b)’ (B) (a=b)’ (A)
(@+b) ~(a-b)’ =7 -3
4ab (B) 2(a? +b%) (A)
< ot s S Ut s U 6 8 -4
3x2(B) 2x3(A)
o B UF S e nlid 5
shord s (B) minor arc 2%/ 7 (A)
c ¥ |x=-1=4 6
{-5,-3) (B) 5,3 A
o St & i T
(1,0) B 0 A
gL L gt S8 A -8
2 (B) 3(A)
o s Fupn L el 9
180°4B) 90° (A)
< k¥ 12pq,8p’q 10
4p’q* (B) 4pq (A)
cerJ¥ (x-2)P =4 11
{0,4} (A)
< bt KL?//:‘/&»» 12
0 (A)
cerSYIXES 3
3 (A)
ot B¥T 14
Laen @) I ()
) 9&57:(; %Y =16 <15
(x-4)(x+4) (B) (x=2)(x+2) (A)
7

4
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General Mathematics
Time: 2:10 Hours

Marks: 60

Group: 1

Note: Sectioh I is compulsory, Attempt any THREE (3)

questions from Section I1.

Section I Jilo

(2x6=12)

2- Write short answers to any SIX questions:

- 1f P(x)=x* +3x% = 5x +9, then find P(x), for x=1.

i~ Solve by using formula  (x + )’ -1
iii- Define irrational numbers with example.
V- Factorize x* +y-xy-x
v- Factorize x2 - x 156
vi- Factorize  27-1000y°
Vil- Find H.C.F. by factorization 8xy 7z 2x y
viii- Find L.C.M. by factorization
18ab%c? 6ab’c?,24ab’c?
ix- Define Least Common Muitiple (L.C.M.)
3- ‘Write short answers to any SIX questions. % 6.=12)
i- Verify that x =—2 is not a root of the equation
Sx-12=-2

i- Solve 3x +20=44

iii- Define absolute value.

! I l
iv- Write in standard form ; G iy — \

+83

v- If x =13 is a solution of equation xZ+Kx+15=0,

find the value of K.
vi- Solve by factorization x2+7x-8=0

vii- Define transpose of a matrix.

a b
viil- if A =L (J , then find the additive inverse of A.

52 2
x-1f A= 3 4| and B= 5 |, then find AB.

4- Write short answers to any SIX questions. (2x6=12)
i- Define straight angle.

ii- In the given figure, find the value of x°

A

(ilaﬂ)
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2L x=1in P)=x"+3x2-5x+9 S i

i § PX)
(x+y) -1 éJ’LMJWJL& -

S Jedim e S g i

x 4y -xy-x &£oi v

X =x=156 2—{&5/2 =Y

27-1000y° &£ $7  -vi

8xyz 2x2yzz“ ér}”fulgb(jf.‘,g/)} Vil
2 b fioeshs 6 20k -vii

18ab203,623[)2(:3,24ab2c2
2 Sk Lix
E FepfLler®) el 3

e SIS Sx-12=-2 able x=-2 SE =k

x+20=44 S i

-é.b/’JJ G& i
1

‘X‘+X—+°§ 3 ‘Ju"pij LV

N KISV x2+Kx+15=0bls Xx=3 S
e

x}+7x-8=0 ZSUf -

Sl v i

& b FET AT A=E ﬂ S i

E feniPl e ®) &l 4
E
dEepradd <O ey i

2 s 2]
&5 AB I B—*-M sl A=[3 4} A S
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iii- Construct a triangle ABC where mZA =30°, m£B = 60°

s mLA=30°,mLB=60° 22 tABCEL i

d mAB=5cm. g
and mAB=S5cm Q "7‘ (/(‘)(l/ mAB = Scm
Hafll, v

iv- Define a square.
v- Find the third side of right triangle with legs 'a’ , 'b'
and hypotenuse 'c’. b=5,c=61,a="?
vi- Write Hero's formula.
vii- Find area of triangle whose base = 5 and altitude = 12.
viii- Define collinear points,
ix- Find the distance between given pair of points.
(a.-b),(b,~a)
WA aLszsn 8 ldvp)
Note: Attempt any THREE (8) questions.
5. (a) If x=v3 =2 then find the value of

| 3
X~=and X" +—3
X X
(b) When x* +2x% +Kx? +3 is divided by x -2,
the remainder is 1. Find the value of’K..

8- (a) Find the required polynomial
A=x*-5x-14, H=x-7
L=x>-10x*+11x+70 , B=?

4 4x
(b) Solve E(ZX +3)2 10——3—

7- (a) The difference of two numbers is 9 and product of
the numbers is 162. Find the numbers.
4 2

5 4J then verify that A Al =ATA

(b) lfA=[_

8- (a) Solve the following equation by matrix inversion
method3x -4y =7,5x - Ty =12

Draw an equilaterial triangle with length of each
side is 6¢m and draw its perpendicular bi-sector.

—
S
~

9- (a) Find the volume of circular cone with
radius of base 3cm and altitude is 10cm.

(b) Show that the points A(-1,2),B(7,5) and
C(2,~-06) are vertices of a right angle triangle.
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Lyt ca & ér}# d”o/:' ng;tﬂl:/"l? -V
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(a,~b),(b,-a)

SectionIl (9 2

St (3) Fe b i)
x—% Jor x=3 -2 (L) o5

“ ]
g JX2+—§ »l

X

c“_ﬂggﬂﬁc_ x=2 4 e v ka2 430 (O

PRI IS TS
o e GF A (U) 6
A=x?-5x-14 , H=x-7
L=x>=10x*+11x+70 , B="?
doxem20-2 Ly )
3 3 K 3
Jetie 162 ....//;’Jlb Kub:l% 90/’ §slet 1 (LD 27
A

4 2] .
AN = AN ek T A=L J PR

& e 3 L g Ui i bn (L) 8
Ix-4y=7,5x~-Ty=12
i bem & ¥ ekl Lol LI (L)
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1-1- The co-ordinates of the origin are Urlvebsl i 11
0.n @)~ 0,0 (©) (1,0) (B) 0 (A)
2- Volume of a cube with edge'l’ is 'lblfiﬁﬂﬁ(yﬁ.ﬁ +2
. et
£* (o) 1 © £* (®) 3l )
3- The medians of a triangle are Sl gy L sl 3
collinear B4 (B) c@ncurrent /F// B LT (A)

perpendicular I/t 2T (D) non,toncurrent Ligs(C)

4- A straight angle contains < tyonk g il 4
360° (D) | 90° (A)

5- A matrix consisting of one column s cied a o b x LS e 5

row matrix 6 SB (A)

identity matrix & JU(}/ (C)

g_fylgbg lqu,szq -8

scalar matrix ¥ J§
8- H.C.F. of 12pq, 8p%q is

4p’q (D) 4pd* (e) p’a’ (B) 4pq (A)
7- Alinear equation in one variable is of degree & b o il L)J’;kﬁ &gl 7
3 (D) 0(C) 1(8) 2 (A)

U 09 /;Lcl'_ O’C b s,,/"’fﬂp@ -8
(B) same order J,_w U (A)
Ut Lx L gt e 29

8- Surds can be multiplied, if they are of the
order n Jn,w (D) different orders Juﬁ» il (C) order

8- The number of altitude in a triangle is

4 (D) 3(C) 24B) 1(A)
10- Area of an equilateral triangle with side 'a' is e bty K oral TRl L sle 10
2 2
‘Eza (D) ‘/ia ©)
11- For each number 'x' the absolute value of x is denoted b ) :(J} ARV IRT
0(D) Ix] (C) =X (B)
12- In matrices (AB)' =7 ‘ < b ds (AB) U2 2E 12
A'B' (D) B'A' (C) B (B) 4
13- x%+42x+1=0 has the solution set e erY x142x41=0 ,\re
-1} ©) 0} (© (1,1} B) CL-hw

£ g}lb/uu Az Lf: Cuéfb’u"' NN IRV
isosceles triangle 2. o7 LIGHLE (A)

14- A triangle with no equal side is called
equilateral friangle &4 Loy (B

right angled triangle &4 1246 (1) scalene triangle &% {, w1 (C)
D et
15- A quadratic polynomial is of degree < o0 ¥ u/,:(u.» » 15
3(D) ~ 2‘[(:) 1(B) 0 (A)
114-(ID)-1%*A 224-30000 /
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_General Mathematics
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Marks: 60

Note: Section I is compulsory. Attempt any THREE (3)
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questions from Section IL -é Sty
. Section I Jilo
2- Write short answers to any SIX questions: (2x6=12) é//’uLV/"’ZuUV(G) ic_éf -2
i If P(x) =2x" +2x% +x -1, then find P(-2). &l P(-2) Fn P(0)= axds2xtax—1 A i
x3y2 3y2 i
ii- Fi = e i
Find the lowest term of 12xy5 ér J’CJ//"‘O/ 12xy
i Simplify 180 ++24 £ A 180424 i
iv- |dentify the degrees of equations x+3, 4x% =3x +1 e babn L ax?-3x+1 ol x+3 Lir v
v- Factorize K* -8l K2-81 £ $f -V
vi- If P(x) = x* —10x? +25x 2, find P(4) &k o P(4) x P(x) = K4 o10x2+25x -2 v
vii- Define Highest Common Factor (H.C.F.) -?f,f __,y/?gf(”btc ~vil
viii- Find H.C.F. by factorization 8xy’z 3 12x%y%2? gxy’z’ , 12x2y 7" ér}“r‘”w Sk -Vl
ix- Find L.C.M. by factorization ’é(ﬁwt};‘dw‘ﬁ dfjr:’w'% -ix

18ab%c? , 6ab2c?, 2dab?c?

18ab%c’ ,6abzc3 24ab%c?

3. Write short answers to any SiX guestions: (2x6=12)
4x  3x 4x  3x
- Solve ———=4 ———=4 cifd"
5 4
ii- Solve |x~3|=4 |x-3=4 &

1 1
i lxso(x-1
ii- Solve 7 4(X )

iv- Solve by using factorization 3x% -10x+8=0

v- If X =3 is a solution of the equation x? +Kx+15=0.

Find the value of K.
vi- Solve by using quadratic formula 10x%-5x =15

A LI P 2]
vie ff A=\, (}B= g | find A+B

2 3 4 0t 3
vie f A=1 5 5,B=|2 3 6| find A_B
49 3 I & =i

) a b
iX-if A= L d} what is the additive inverse of A?

4- Write short answers to any SIX questions:
i- Define supplementary angles.
ii- In the given figure find '@’ and'b".
a

0

50

(ﬁIJJJ)

(2x6=12)

lgx>~;:(x—l) st Jf
ax? —10x +8=0 25 S 6F 2k

Kin S ¥ x? +Kx+15=0 =bls x=3/
i d
10X2—5X=15 Z:JVC_ 4 J:KJ,/:»

13 4 2
e A+B A=L 5}8{_6 J

1

g

A-Bin
g

a b| .
-’é(}”uﬁ”d"-KA!A:L d}fl

2 3 4 0
A=|1 5 5,B=|2
4 9 3 1

g P
L pred oaa v P

EE feliz P2y (6) e:c,éf -3

i
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_Vi

_vii

- viii
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#E feyzFLeir 6) P
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(2
LS (-8,10) wir g i

iii- Describe the location of the point (-8,10) on the
number plane. &V\K 5= )L/

iv- Find the distance between the pair of points Lol g & (—4,-3) ! @,h)be -iv
(2,0,(4,-3) _ g o

v- Find the third side of right triangle whose 'c’ is hypotenuse o et & & & E ke D2 v
and b=5,c=61,a="? b=5,c=61,a="?

vi- Find area of a right triangle with base 5, altitude 12 and 12 3F 5 il B E I 3 el NGy
hypotenuse 13. ; it 13 >

S i

vii- Define semi circle.

viii- Write the equation for given triangle and solve it. affp’-" X' /Jobv J.:JP dfu’; Vil
o o
90" 30 o 30
X X

ix- Define angle bisectors of a triangle. ,é _,y/JJ..ML Lo £ ek Lix

Section Il ¢ -

(uj/:z 4 L7 p sl /", 8 ZJir )

Note: Attempt any THREE (3) questions -glfd".:,mr (3) u‘fc— Jf o
1 . I 27 8
5 (a) If x= «/g—\/—Z‘, then find the value of %’ +;‘(’2“ szr)”.:/J x’ +”—2‘?rx =3-2./4 () -5
(b) Use factor theorem to show that x —1 is’not a factor  x-1 S ek in by JM! $F b )
of 4x7 —2x5 +x%* +2x+5 ~C-u‘wd/"’fg4x w38 2 2% 4 Px 48
1Y 1 1Y h
6- (a) Find the square root of (t—Tj ~4(t+——t“)+8 (t——[-] —'4[t+-t'J+8 ’c‘:(}”‘ G i (L) 6
1 I | |
b —x21+=X = e -x 5,
(b) Solve - - 2X21+3X & ()
7- (a) Solve 2x2+8x—26=0 by completing square method. %7 +8x-26=0 & S 3L Gy J'f{ (D 7
( 2 0 ] , 2 0
®) f A=|_| 5] then prove that AK™ =T aTor s eei A= 5|4 D)
8- (a) Solve the simultaneous equations by the matrix inversion method &5 fe 2L 6 uB S Uil (L) 8
2x -5y =1 2x -5y =1
Ix~-Ty=2 3x-Ty=2
(b) Draw a triangle ABC in which mBC = 5.4cm , mAB = 4.3cm mBC = 5.4cm % U &k ABC &db (o)
and mAC=3.9cm . mAB = 4.3cm, mAC =3.9¢m
9- (a) Find the radius of the cylinder with volume 12320 cm® ¥4+ - /u’ 20 Jigst i H A 12320 £ €1 (D) -9
and height 20 cm éfr}"‘mu
(b) Show that the points A(~1,2),B(7,5) {1 C(2,-6) 4 B(7,5) « A(=1,2) 580 &5 =t (&)

and C(2,-6) are vertices of a right triangle. B TIPSy Y
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